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1. A straight line through 𝑃(1,2) is such that its intercept between the axes is bisected at 𝑃. Its equation is 
 a) 𝑥 + 2 𝑦 = 5 b) 𝑥 − 𝑦 + 1 = 0 c) 𝑥 + 𝑦 − 3 = 0 d) 2 𝑥 + 𝑦 − 4 = 0 
2. The incentre of the triangle formed by the lines 𝑥 = 0, 𝑦 = 0 and 3𝑥 4𝑦 = 12 is at 
 a) (1/2,1/2) b) (1, 1) c) (1, 1/2) d) (1/2,1) 
3. A pair of perpendicular straight lines passes through the origin and also through the point of 
intersection of the curve 𝑥2 + 𝑦2 = 4 with 𝑥 + 𝑦 = 𝑎. The set containing the value of ‘𝑎’ is 
 a) {−2, 2} b) {−3, 3} c) {−4, 4} d) {−5, 5} 
4. If pairs straight lines 𝑥2 − 2𝑝𝑥𝑦 − 𝑦2 = 0 and 𝑥2 − 2𝑞𝑥𝑦 − 𝑦2 = 0 be such that each pair bisects the 
angle between the other pair, then 
 a) 𝑝𝑞 = 1 b) 𝑝𝑞 = −1 c) 𝑝𝑞 = 2 d) 𝑝𝑞 = −2 
5. In a rhombus 𝐴𝐵𝐶𝐷 the diagonals 𝐴𝐶 and 𝐵𝐷 intersect at the point (3,4). If the point 𝐴 is (1,2) the 
diagonal 𝐵𝐷 has the equation 
 a) 𝑥 − 𝑦 − 1 = 0 b) 𝑥 + 𝑦 − 1 = 0 c) 𝑥 − 𝑦 + 1 = 0 d) 𝑥 + 𝑦 − 7 = 0 
6.  The gradient of one of the lines of 𝑎𝑥2 + 2ℎ𝑥𝑦 + 𝑏𝑦2 = 0 is twice that of the other, then  
 a) ℎ2 = 𝑎𝑏 b) ℎ = 𝑎 + 𝑏 c) 8ℎ2 = 9𝑎𝑏 d) 9ℎ2 = 8𝑎𝑏 

7. The family of lines making an angle 30° with the line √3𝑦 = 𝑥 + 1 is 

 a) 𝑥 = 𝜆(λ is parameter ) b) 𝑦 = −√3𝑥 + 𝜆(λ is parameter ) 

 c) 𝑦 = √3𝑥 + 𝜆 d) None of  the above 
8. If the slope of one of the lines represented by 𝑎𝑥2 + 2ℎ𝑥𝑦 + 𝑏𝑦2 = 0 be the square of the other, then 
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 a) 3 b) 4 c) 5 d) 6 
9. The equation 𝑦2 − 𝑥2 + 2 𝑥 − 1 = 0, represents 
 a) A pair of st. lines b) A circle c) A parabola d) An ellipse 
10. The vertices of a ∆ 𝑂𝐵𝐶 are (0, 0), 𝐵(−3, −1) and 𝐶(−1, −3). The equation of a line parallel to 𝐵𝐶 and 
intersecting sides 𝑂𝐵 and 𝑂𝐶 whose distance from the origin is 1/2, is 
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11. The angle between the line joining the points (1, −2), (3, 2) and the line 𝑥 + 2𝑦 − 7 = 0 is 
 a) π b) π/2 c) π/3 d) π/6 
12. The equation 𝑦2 − 𝑥2 + 2𝑥 − 1 = 0 represents  
 a) A hyperbola b) An ellipse 
 c) A pair of straight lines  d) A rectangular hyperbola  
13. The equation to the bisecting the join of (3, −4) and (5,2) and having its intercepts on the 𝑥-axis and 
the 𝑦-axis in the ratio 2 : 1 is 
 a) 𝑥 + 𝑦 − 3 = 0 b) 2𝑥 − 𝑦 = 9 c) 𝑥 + 2𝑦 = 2 d) 2𝑥 + 𝑦 = 7 
14. 𝐴(−5,0) and 𝐵(3,0) are two of the vertices of a triangle 𝐴𝐵𝐶. Its area is 20 square cms. The vertex 𝐶 
lies on the line 𝑥 − 𝑦 = 2. The coordinates of 𝐶 are 
 a) (−7, −5) or (3,5) b) (−3, −5) or (−5,7) c) (7,5) or (3,5) d) (−3, −5) or (7,5) 
15. The point of concurrence of the lines 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 and 𝑎, 𝑏, 𝑐 satisfy the relation  3𝑎 + 2𝑏 + 4𝑐 = 0 
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16. The angle between the straight line 𝑥 − 𝑦√3 = 5 and √3𝑥 + 𝑦 = 7 is  
 a) 90° b) 60° c) 75° d) 30° 

17. The equation 𝑦 = ±√3𝑥, 𝑦 = 1 are the sides of 
 a) An equilateral triangle  b) A right angled triangle  
 c) An isosceles triangle  d) An obtuse  triangle  
18. A line passes through the point of intersection of the lines 3𝑥 + 𝑦 + 1 = 0 and 2𝑥 − 𝑦 + 3 = 0 and 
makes equal intercepts with axes. Then, equation of the line is 
 a) 5𝑥 + 5𝑦 − 3 = 0 b) 𝑥 + 5𝑦 − 3 = 0 c) 5𝑥 − 𝑦 − 3 = 0 d) 5𝑥 + 5𝑦 + 3 = 0 
19. The equation of the straight line which passes through the point (1, −2) and cuts off equal intercepts 
from the axes will be 
 a) 𝑥 + 𝑦 = 1 b) 𝑥 − 𝑦 = 1 c) 𝑥 + 𝑦 + 1 = 0 d) 𝑥 − 𝑦 − 2 = 0 
20. The orthocenter of a triangle formed by the lines 𝑥 + 𝑦 = 1, 2𝑥 + 3𝑦 = 6 and 4𝑥 − 𝑦 + 4 = 0 lies in the 
 a) Ist quadrant  b) IInd quadrant  c) IIIrd quadrant  d) IVth quadrant 
 
 


